EL11-11

1NKDLB0X66J989120

Work Order: **Equipment:**

10810

TRUCK TRIDRIVE VAC KW T880 [9211]

Work Location:

Shop Operations - RMH

Created by: .ms:

Darcy Hallock

Hr:

N/A N/A

Status:

Serial Number:

Stop Date:

Trucks Heavy

Transferred

Business Unit:

Start Date:

5-19-2020 5-19-2020

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
DARCY HALLOCK	1.00 RT Shop Tire Tech	\$35.00	\$35.00
		Total Labor	\$35.00
		Total Parts	\$0.00

Total Equip \$0.00 **Total Cost** \$35.00

Item ID	Description	Completed By	Reported Hours	_
18641	9211- 05/19/2020		1.00	

Work Order: **Equipment:**

10944

TRUCK TRIDRIVE VAC KW T880 [9211]

Work Location:

Rocky Mountain House Shop

Created by:

ns:

Hr:

Colton Parker

N/A

N/A

Status:

Serial Number:

1NKDLB0X66J989120

Business Unit:

Start Date:

Trucks Heavy 5-25-2020

Transferred

Stop Date: 5-25-2020

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
BRENT EVANS	2.00 RT Shop Mech Rky	\$50.00	\$100.00
		Total Labor	\$100.00
WIPER BLADE - HD FLAT [5113]	1.00 Each	\$7.45	\$7.45
		Total Parts	\$7.45
		Total Equip	\$0.00
		Total Cost	\$107.45

Item ID	Description	Completed By	Reported Hours
		_	
18854	WIPERS NOT WORKING CORRECTLY		2.00

Work Order:

10987

Equipment:

TRUCK TRIDRIVE VAC KW T880 [9211]

ork Location:

Rocky Mountain House Shop

Created by:

Colton Parker

Kms: Hr:

N/A N/A Status:

Serial Number:

Transferred 1NKDLB0X66J989120

Business Unit:

Trucks Heavy 5-26-2020

Start Date:

Stop Date:

5-28-2020

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
GARRY MELVIN	3.00 RT Shop Mech Field	\$54.00	\$162.00
		Total Labor	\$162.00
PTO INDICATOR LIGHT [75P13]	1.00 Each	\$17.16	\$17.1٤
TOGGLE SWITCH [5582-10-DP]	1.00 Each	\$14.10	\$14.10
TOGGLE SWITCH COVER [82-2106]	1.00 Each	\$5.99	\$5.99
		Total Parts	\$37.25
		Total Equip	\$0.00
		Total Cost	\$199.25

Item ID	Description	Completed By	Reported Hours
18925	PUMP SOMETIMES WILL NOT TURN ON		3.00

Work Order:

11442

Status:

Transferred

Equipment:

TRUCK TRIDRIVE VAC KW T880 [9211]

Serial Number:

1NKDLB0X66J989120

Work Location: Created by:

Rocky Mountain House Shop

Business Unit: Start Date:

Trucks Heavy

Colton Parker

Stop Date:

6-9-2020

Kms:

Hr:

N/A N/A

6-9-2020

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Totai
reese koch	3.00 RT Shop Mech Rky	\$50.00	\$150.00
	Tota	l Labor	\$150.00
	Tota	al Parts	\$0.00
	Tota	l Equip	\$0.00
	Tot	al Cost	\$150.00

Item ID	Description	Completed By	Reported Hours
19681	VAC PUMP NOT TURNING ON		3.00

Work Order

12078

Status:

Transferred

Equipment:

TRUCK TRIDRIVE VAC KW T880 [9211]

Serial Number: Business Unit:

1NKDLB0X66J989120

Work Location:

Created by:

Maintain Administrator

Start Date:

Trucks Heavy

Kms:

Hr:

N/A N/A Stop Date:

Description		Quantity Labor Type	Rate	Total
			Total Labor	\$0.00
GASKET - FUEL HAND I	PRIMER [1P0436]	1.00 Each	\$2.70	\$2.70

		Total Cost	\$277.08
		Total Equip	\$0.00
		Total Parts	\$277.08
USE OLD ONES FIRST, RATCHET TIEDOWN- MINI (1 X 16) [43887-10]	1.00 Each	\$10.88	\$10.88
JMP ASSY[Custom]	1.00 Each	\$225.95	\$225.95
NUT- CAP CLOSED BATTERY TERMINAL [6015-638QCA]	1.00 Each	\$1.51	\$1.51
MOTHERS -X REF 35316 [MOT35316]	1.00 Each	\$9.42	\$9.42
KENWORTH PLUG ADAPTER [D19005773 {KW123}]	1.00 Each	\$26.62	\$26.62

Item ID	Description	Completed By	Reported Hours
20630	9211- DIRECT BILL		0.00
32946	RICHARD TOOK SUPPLIES	Josh LeBlanc	0.00

12941

Status:

Transferred

Equipment:

TRUCK TRIDRIVE VAC KW T880 [9211]

Serial Number:

1NKDLB0X66J989120

Work Location:

Rocky Mountain House Shop

Business Unit:

Trucks Heavy

Created by:

Colton Parker

Start Date:

7-2-2020

Kms:

Hr:

N/A N/A **Stop Date:**

7-13-2020

\$1,300.00 \$98.00 \$1,398.00
-
\$1,398.00
\$133.64
\$2.81
\$259.13
\$29.34
\$34.69
\$56.49
\$36.01
\$96.00
\$17.16
\$254.15
\$313.95
\$40.23
\$7.41
\$1,281.01
\$0.00

	Description	Completed By	Reported Hours
21517	REPLACE HYDRAULIC FILTER	Clayton Olson	0.25
21717	REPLACE BRAKE SHOES AND DRUMS	Clayton Olson	1.00
1709	REPAIR LIGHTS	Clayton Olson	1.00
1714	REPAIR HEATER CONTROL	Clayton Olson	3.50
1552	CVIP Annual	Clayton Olson	16.25
erform annu	al CVIP. Change hydraulic filter if applicable.		
21140	REPLACE TRANSFER CASE OIL	Clayton Olson	0.00
21710	MISC WELDING	Clayton Olson	2.00
21711	INSTALL DRIVER DOOR SEAL	Clayton Olson	0.25
1712	PASSENGER STEP LOOSE	Clayton Olson	0.25
21713	ABS LIGHT ON	Clayton Olson	2.50
1715	BRAKE PEDDLE STICKING	Clayton Olson	0.50
21716	TIGHTEN TOOL BOX ABOVE DRIVE AXLES	Clayton Olson	0.50
Manda O. J.	12754	Cha.t.	Tunication
		Status:	Transferred
quipment:	TRUCK TRIDRIVE VAC KW T880 [9211]	Serial Number:	1NKDLB0X66J989120
quipment: Vork Locat	TRUCK TRIDRIVE VAC KW T880 [9211] on: Rocky Mountain House Shop	Serial Number: Business Unit:	1NKDLB0X66J989120 Trucks Heavy
iquipment: Vork Locat Created by:	TRUCK TRIDRIVE VAC KW T880 [9211] on: Rocky Mountain House Shop Colton Parker	Serial Number: Business Unit: Start Date:	1NKDLB0X66J989120 Trucks Heavy 7-20-2020
iquipment: Vork Locat Created by: Kms:	TRUCK TRIDRIVE VAC KW T880 [9211] on: Rocky Mountain House Shop Colton Parker N/A	Serial Number: Business Unit:	1NKDLB0X66J989120 Trucks Heavy
quipment: Vork Locat reated by: Ims:	TRUCK TRIDRIVE VAC KW T880 [9211] Rocky Mountain House Shop Colton Parker N/A N/A	Serial Number: Business Unit: Start Date:	1NKDLB0X66J989120 Trucks Heavy 7-20-2020
Equipment: Work Locat Created by: Kms: Hr: Work Order	TRUCK TRIDRIVE VAC KW T880 [9211] on: Rocky Mountain House Shop Colton Parker N/A	Serial Number: Business Unit: Start Date: Stop Date:	1NKDLB0X66J989120 Trucks Heavy 7-20-2020 7-20-2020
Equipment: Work Locat Created by: Kms: Hr: Work Order Description	TRUCK TRIDRIVE VAC KW T880 [9211] on: Rocky Mountain House Shop Colton Parker N/A N/A Cost Summary	Serial Number: Business Unit: Start Date: Stop Date: Quantity Labor Type	1NKDLB0X66J989120 Trucks Heavy 7-20-2020 7-20-2020
Equipment: Work Locat Created by: Kms: Hr: Work Order Description	TRUCK TRIDRIVE VAC KW T880 [9211] on: Rocky Mountain House Shop Colton Parker N/A N/A Cost Summary	Serial Number: Business Unit: Start Date: Stop Date:	1NKDLB0X66J989120 Trucks Heavy 7-20-2020 7-20-2020 Rate Tota \$50.00 \$175.00
Description CLAYTON OL	TRUCK TRIDRIVE VAC KW T880 [9211] On: Rocky Mountain House Shop Colton Parker N/A N/A Cost Summary	Serial Number: Business Unit: Start Date: Stop Date: Quantity Labor Type 3.50 RT Shop Mech Rky	1NKDLB0X66J989120 Trucks Heavy 7-20-2020 7-20-2020 Rate Total \$50.00 \$175.00 Total Labor \$175.00
Equipment: Work Locat Created by: Kms: Hr: Work Order Description CLAYTON OL	TRUCK TRIDRIVE VAC KW T880 [9211] on: Rocky Mountain House Shop Colton Parker N/A N/A Cost Summary	Serial Number: Business Unit: Start Date: Stop Date: Quantity Labor Type	1NKDLB0X66J989120 Trucks Heavy 7-20-2020 7-20-2020 Rate Total \$50.00 \$175.00 Total Labor \$175.00
Equipment: Work Locat Created by: Kms: Hr: Work Order Description CLAYTON OL	TRUCK TRIDRIVE VAC KW T880 [9211] On: Rocky Mountain House Shop Colton Parker N/A N/A Cost Summary	Serial Number: Business Unit: Start Date: Stop Date: Quantity Labor Type 3.50 RT Shop Mech Rky	1NKDLB0X66J989120 Trucks Heavy 7-20-2020 7-20-2020 Rate Total \$50.00 \$175.00 Total Labor \$175.00

Item ID	Description	Completed By	Reported Hours	
22909	REPLACE BROKEN VALVE ON BACK OF TANK	Clayton Olson	3.00	—
22910	BRAKE LIGHTS STUCK ON	Clayton Olson	0.50	_

14854

Equipment:

TRUCK TRIDRIVE VAC KW T880 [9211]

Status:

Transferred

Trucks Heavy

Serial Number: Business Unit:

1NKDLB0X66J989120

Work Location:

Created by:

Kms:

Nick Depratto

N/A

N/A Hr:

Start Date: Stop Date:

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
······································		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours
<u></u>			
24857	9211 - VENDOR REPAIR INVOICES	Nick Depratto	0.00
24858	9211 - VENDOR TIRE REPAIR INVOICES	Nick Depratto	0.00
24859	9211 - VENDOR WINDSHIELD INVOICES	Nick Depratto	0.00

Work Order: **Equipment:**

15226

TRUCK TRIDRIVE VAC KW T880 [9211]

Status: Serial Number: Transferred

Work Location:

Rocky Mountain House Shop

Business Unit:

1NKDLB0X66J989120 Trucks Heavy

Created by:

Colton Parker

Start Date:

9-24-2020

Kms:

Stop Date:

9-26-2020

Hr:

N/A N/A

Description	Quantity Labor Type	Rate	Total
CLAYTON OLSON	21.00 RT Shop Mech Rky	\$50.00	\$1,050.00
H. KANIELA JOHNSON	9.75 RT Shop Weld Rky	\$49.00	\$477.75
		Total Labor	\$1,527.75
3/4 TEFLON PACKING FOR FLOAT [100-10556]	5.00 Each	\$10.25	\$51.25
HECK VALVE GASKETS [6"ID-9.5"OD]	6.00 Each	\$14.50	\$87.00
VTB820XL BARE SHAFT BLOWER[Custom]	1.00 Each	\$11,601.00	\$11,601.00
WEB FUEL FILTER - AIRTOP 2000 [50487171A]	1.00 Each	· \$23.10	\$23.10
		Total Parts	\$11,762.35

Total Equip

\$0.00

Total Cost

			Total Cost \$13,290.10
Item ID	Description	Completed By	Reported Hours
25776	WEBASTO ENGINE HEATER NOT WORKING	Clayton Olson	5.75
24570	CHECK GPS SERIAL# AND IGNITION STATE	Clayton Olson	0.50
25715	REMOVE VAC PUMP TO INSPECT FOR REBUILD	Clayton Olson	24.50
Work Order:	15775	Status:	Transferred
Equipment:	TRUCK TRIDRIVE VAC KW T880 [9211]	Serial Number:	1NKDLB0X66J989120
Work Location	Rocky Mountain House Shop	Business Unit:	Trucks Heavy
Created by:	Colton Parker	Start Date:	9-30-2020
Kms:	N/A	Stop Date:	9-30-2020
Hr:	N/A		
Work Order Co Description	st Summary	Quantity Labor Type	Rate Total
H. KANIELA JOH	NCON	1.50 RT Shop Weld Rky	\$49.00 \$73.50
II. KANTELA JOH	NSON	1.50 Ki Shop Weld Kky	73.50 \$73.50 \$73.50
			Total Parts \$0.00
			Total Equip \$0.00
			Total Cost \$73.50
Item ID	Description	Completed By	Reported Hours
26760	REPAIR COOLANT LEAK	Kani Johnson	1.50

w	ork	Orde	
w	710	Oind	ı i

16460

N/A

Status:

Transferred

Equipment:

TRUCK TRIDRIVE VAC KW T880 [9211]

Serial Number:

1NKDLB0X66J989120 Trucks Heavy

Work Location:

Rocky Mountain House Shop

Business Unit:

10-27-2020

Created by: Kms: Nick Depratto

Start Date: Stop Date:

10-29-2020

Hr: N/A

	Quantity Labor Type	Rate	Total
	12.50 RT Shop Mech Rky	\$50.00	\$625.00
		Total Labor	\$625.00
010696X]	1.00 Each	\$397.09	\$397.09
DRE [5010696XCORE]	1.00 Each	\$0.00	\$0.00
	1.00 Each	\$30.19	\$30.19
	010696X] DRE [5010696XCORE]	12.50 RT Shop Mech Rky 010696X] 1.00 Each ORE [5010696XCORE] 1.00 Each	12.50 RT Shop Mech Rky \$50.00 Total Labor 010696X] 1.00 Each \$397.09 ORE [5010696XCORE] 1.00 Each \$0.00

_			Total Cost	\$1,222.23
			Total Equip	\$0.00
			Total Parts	\$597.23
	.10250Y, 10375Y}] ROTE PIGTAIL - SEALED MARKER LIGHT PIGTAIL [67050]	1.00 Each	\$1.16	\$1.16
	ROTE LIGHT - 2 1/2" AMBER LED CLEARANCE MARKER LIGHT [G1033 {xr	1.00 Each	\$5.57	\$5.57
E	NGINE PRIMARY FUEL FILTER [P551311 {xr 1R0749, FF5319}]	1.00 Each	\$11.29	\$11.29
,	NGINE PRIMARY FUEL FILTER [P551000 {xr FS1000}]	1.00 Each	\$11.15	\$11.15
E	NGINE LUBE FILTER [DBL7505 {xr LF691A}]	1.00 Each	\$21.64	\$21.6 4
Ei	IGINE AIR FILTER [P534816 {xr AF25247}]	2.00 Each	\$55.29	\$110.58
c	AB FILTER - W/O COVER KW T800 & C500 [CFR19501]	1.00 Each	\$8.56	\$8.56

Item ID	Description	Completed By	Reported Hours
24492	250HR SERVICE - REPLACE ALL FILTERS	Nick Depratto	5.00
28149	REPAIR CAUSE OF VAC PUMP NOT DISENGAGING	Nick Depratto	0.00
28153	INSTALL ALCHOL EVAPOURATOR IN OUTLET OF THE AIR DRYER	Nick Depratto	2.00
28176	REPAIR LIGHTS THAT ARE NOT WORKING	Nick Depratto	3.00
27019	REPLACE AIR DRYER	Nick Depratto	2.50

Work Order: Equipment: 16517

TRUCK TRIDRIVE VAC KW T880 [9211]

Work Location: Created by: Shop Operations - RMH

Created by: Darcy Hallock
Kms: N/A

Hr: N/A

Status:

Serial Number: Business Unit: Transferred 1NKDLB0X66J989120

Trucks Heavy

 Start Date:
 10-28-2020

 Stop Date:
 10-28-2020

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
DARCY HALLOCK	0.75 RT Shop Tire Tech	\$35.00	\$26.25
		Total Labor	\$26.25
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$26.25

Item ID	Description	Completed By	Reported Hours
28236	9211- 10/28/2020	Darcy Hallock	0.75

Work Order: Equipment: 17539

TRUCK TRIDRIVE VAC KW T880 [9211]

Status:

Transferred

Serial Number:

1NKDLB0X66J989120

Work Location:

Rocky Mountain House Shop

Created by:

Nick Depratto

Kms:

N/A Hr: N/A

Business Unit:

Trucks Heavy

Start Date:

12-10-2020

Stop Date:

12-15-2020

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
WALTER BOESCH	7.00 RT Shop Mech Rky	\$50.00	\$350.00
		Total Labor	\$350.00
025 PUMP SHEAR PUCK[Custom]	2.00 Each	\$140.45	\$280.90
		Total Parts	\$280.90
		Total Equip	\$0.00
		Total Cost	\$630.90

Item ID	Description	Completed By	Reported Hours
30526	REPAIR CAUSE OF BLOWER NOT WORKING	Walt Boesch	7.00

Work Order: Equipment

18627

TRUCK TRIDRIVE VAC KW T880 [9211]

Rocky Mountain House Shop

Work Location: Created by

Colton Parker

Kms: N/A

Hr: N/A Status:

Serial Number:

Business Unit:

Start Date: Stop Date:

Transferred

1NKDLB0X66J989120 Trucks Heavy

2-16-2021 2-17-2021

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
WALTER BOESCH	7.00 RT Shop Mech Rky	\$50.00	\$350.00
		Total Labor	\$350.00
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$350.00

Item ID	Description	Completed By	Reported Hours
30630	VAC MOTOR ISSUES NO PRESSURE BUILDING - PT60136	Walt Boesch	0.50
32792	CHECK OVER TO ASSURE PROPER OPERATION TO GO TO WORK FOR A	Walt Boesch	6.50

Work Order

Kms:

19665

Equipment:

TRUCK TRIDRIVE VAC KW T880 [9211]

Work Location: Created by:

Blackfalds Shop Oom Jarussirirat

N/A

Status:

Serial Number:

Start Date: **Stop Date:**

Business Unit: Trucks Heavy

Transferred 1NKDLB0X66J989120

Description	Quantity Labor Type	Rate	Tota
OM JARUSSIRIRAT	3.50 RT Shop Foreman	\$48.00	\$168.00
SCOTT MCLEAN	8.50 RT Shop Mech Blfds	\$49.00	\$416.50
STEPHEN DEWOLFE	24.25 RT Shop Mech Blfds	\$49.00	\$1,188.25
		Total Labor	\$1,772.75
24" SHR.ANTI SAIL [AS2620C]	2.00 Each	\$9.00	\$18.01
90L075KP1BC80R4S1D03GBA353[Custom]	1.00 Each	\$6,383.50	\$6,383.50
CAB FILTER - W/CHROME COVER KW T800 & C500 [CF19501C]	1.00 Each	\$26.12	\$26.12
CAP NUT 1 JIC [S3756-16]	2.00 Each	\$1.27	\$2.54
CLAMP[Custom]	1.00 Each	\$26.35	\$26.35
ENGINE AIR FILTER [P534816 {xr AF25247}]	2.00 Each	\$50.03	\$100.05
ENGINE PRIMARY FUEL FILTER [P551000 {xr FS1000}]	1.00 Each	\$11.46	\$11.46
ENGINE PRIMARY FUEL FILTER [P551311 {xr 1R0749, FF5319}]	1.00 Each	\$10.42	\$10.42
FILTER, HYDRAULIC [BT8850-MPG]	1.00 Each	\$36.72	\$36.72
OIL FILTER [DBL7505 {XREF LF9691A}]	1.00 Each	\$26.55	\$26.55
PIDHERNEY MUD FLAP - 24 X 36 [PB2436]	2.00 Each	\$35.18	\$70.36
SEAL ASSY[Custom]	1.00 Each	\$143.81	\$143.81
SHIELD ASSY[Custom]	1.00 Each	\$128.72	\$128.72
JBE PLUG 1 JIC [S3758-16]	2.00 Each	\$1.71	\$3.42
		Total Parts	\$6,988.02
		Total Equip	\$0.00
		Total Cost	\$8,760.77

Item ID	Description	Completed By	Reported Hours
34731	30K/400HR SERVICE - REPLACE ALL FILTERS	Scott Mclean	5.50
34856	PASSENGER HEADLIGHT OUT - PT 68856	Scott Mclean	0.25
5225	NEED A NEW FIRE EXTINGUISHER	Scott Mclean	0.25
5226	NEED TO ADJUST ALL TIRES PRESSURE; STEER 110 PSI AND ALL DRIVES 90 PSI	Scott Mclean	0.50
5227	NEED TO SET ALL BRAKES AND CHECK ALL SLACK ADJUSTERS	Scott Mclean	0.50
5228	REPLACE MUD FLAP AND ANI-SAIL AS NECESSARY	Scott Mclean	1.00
5229	EXHAUST LEAKS ISSUE; MANIFOLD JOIN	Scott Mclean	2.50
5233	REPLACE GREASE NIPPLE AS NECESSARY	Scott Mclean	0.50
35180	PTO IS NOT ENGAGING; ELECTRIC SOLENIOD ISSUE	Oom Jarussirirat	24.25
35210	NEED TO CHECK GND WIRE; DIRTY OR LOOSE (FRAME TO ENG AND ENG TO	Oom Jarussirirat	1.00

20182

Equipment:

TRUCK TRIDRIVE VAC KW T880 [9211]

Work Location:

Created by:

Maintain Administrator

Kms:

Hr:

N/A N/A Status:

Serial Number:

Transferred

1NKDLB0X66J989120 Trucks Heavy

Business Unit:

Start Date:

Stop Date:

Work Order Cost Summary

Descriptio	n	Quantity Labor Type	Rate	Total
			Total Labor	\$0.00
BLOWER W	ONT ENGAGE[Custom]	1.00 Each	\$656.10	\$656.10
DIAMOND I	NV 419437[Custom]	1.00 Each	\$656.10	\$656.10
SUMMIT IN	V 010S753[Custom]	1.00 Each	\$5,705.63	\$5,705.63
			Total Parts	\$7,017.83
			Total Equip	\$0.00
			Total Cost	\$7,017.83

Item ID	Description	Completed By	Reported Hours	
36248	BLOWER WONT ENGAGE	Maintain Administrator	0.00	-

Work Order:

21517

Equipment:

TRUCK TRIDRIVE VAC KW T880 [9211]

Work Location: Created by:

Blackfalds Shop Nick Depratto

Kms:

N/A Hr: N/A

Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Trucks Heavy

1NKDLB0X66J989120

Transferred

6-21-2021 6-25-2021

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
DIAMOND INV 419699[Custom]	1.00 Each	\$1,384.66	\$1,384.66
		Total Parts	\$1,384.66
		Total Equip	\$0.00
		Total Cost	\$1,384.66

Item ID	Description	Completed By	Reported Hours
38409	250HR SERVICE - REPLACE ALL FILTERS	Nick Depratto	0.00

Work Order:

22298

Equipment: **Work Location:** TRUCK TRIDRIVE VAC KW T880 [9211]

Blackfalds Shop

Status:

Serial Number:

Transferred

Business Unit:

1NKDLB0X66J989120

Trucks Heavy

Created by:

Oom Jarussirirat

Kms: Hr:

N/A N/A

Start Date: Stop Date:

7-19-2021

7-22-2021

Description	Quantity Labor Type	Rate	Total
DARCY HALLOCK	8.50 RT Shop Tire Tech	\$35.00	\$297.50
OOM JARUSSIRIRAT	17.75 RT Shop Foreman	\$48.00	\$852.00
SCOTT MCLEAN STEPHEN DEWOLFE	27.25 RT Shop Mech Blfds 7.75 RT Shop Mech Blfds	\$49.00 \$49.00	\$1,335.25 \$379.75
WAYNE KIRK	0.50 RT Shop Mech Blfds	\$49.00	\$24.50
		Total Labor	\$2,889.00
ADIS AIR DRYER DESICCANT FILTER CARTRIDGE [5008414PG]	1.00 Each	\$139.28	\$139.28
BRAKE STROKE INDICATOR [S100]	2.00 Each	\$0.80	\$1.59
CAB FILTER - W/O COVER KW T800 & C500 [CFR19501]	1.00 Each	\$7.21	\$7.21
CLIP- 50 AMP BLACK [84-5003]	1.00 Each	\$0.98	\$0.98
CLIP- 50 AMP RED [84-5002]	1.00 Each	\$0.99	\$0.99
ENGINE AIR FILTER {AF25247} [P534816]	2.00 Each	\$49.78	\$99.56
ENGINE PRIMARY FUEL FILTER [P551000 {xr FS1000}]	1.00 Each	\$11.36	\$11.36
ENGINE PRIMARY FUEL FILTER [P551311 {xr 1R0749, FF5319}]	1.00 Each	\$10.16	\$10.16
FILTER, HYDRAULIC [BT8850-MPG]	1.00 Each	\$36.99	\$36.99
HARNESS - DIFF LOCK SENSOR [129047]	1.00 Each	\$43.21	\$43.21
PUT SEAL[Custom]	1.00 Each	\$50.59	\$50.59
JUMP - WIRE MAGNETIC PICKUP [P92-1571-0600]	3.00 Each	\$70.02	\$210.06
ист - ОСТРСТ [128049]	1.00 Each	\$14.45	\$14.45
OIL FILTER [DBL7505 {XREF LF9691A}]	1.00 Each	\$23.71	\$23.71
OUTPUT YOKE - D170[Custom]	1.00 Each	\$361.76	\$361.76
PINION NUT KIT [131095KETN]	1.00 Each	\$21.85	\$21.85
PLUG - CONNECTOR [2304011]	1.00 Each	\$10.06	\$10.06
POWER LOCK ACTUATOR[Custom]	2.00 Each	\$152.85	\$305.70
PUMP WASHER-USE SEAL 100079 [600228S]	1.00 Each	\$25.63	\$25.63
SEAL - OIL OUTPUT SHAFT [0210737]	1.00 Each	\$47.09	\$47.09
SEAL- VALVE COVER [2429537]	1.00 Each	\$67.17	\$67.17
SEAL-USED FOR PUMP 600228S [100079]	1.00 Each	\$1.28	\$1.28
TEMPERATURE SENDER [Q21-1002]	1.00 Each	\$76.07	\$76.07
TEMPERATURE SENDER [Q21-1002]	1.00 Each	\$76.07	\$76.07
TIRE DRIVE BRIDGESTONE [11R245M775]	8.00 Each	\$543.46	\$4,347.68
TIRE STEER FIRESTONE [38565R225FS818]	2.00 Each	\$611.08	\$1,222.15
JOINT KIT [SK000283]	2.00 Each	\$47.39	\$94.79
WHEEL HUB CAP GASKET [3303009]	1.00 Each	\$1.93	\$1.93
WHEEL SEAL STEER AXLE [3828064]	1.00 Each	\$49.21	\$49.21

Total Parts

\$7,377.98 \$0.00

Total Equip

Total Cost \$10,266.98

Item ID	Description	Completed By	Reported Hours
39629	REPLACE HYDRAULIC FILTER	Scott Mclean	0.25
,,,,,,	NEI DIGE III DIGGERE LELEN	Julic Picicali	V.ZJ
40740	DOOR LOCKS ARE NOT WOKRING PROPERLY	Stephen DeWolfe	2.50
40557	NEED A NEW FUEL CAP ON RH TANK	Scott Mclean	0.25
10618	250HR SERVICE - REPLACE ALL FILTERS	Scott Mclean	5.25
10619	REPLACE AIR DRYER CARTRIDGE FILTER	Oom Jarussirirat	0.50
10620	NEED A NEW HUB SEAL; ON #1 AXLE RH	Oom Jarussirirat	2.25
10621	LOOSE SHOCK; ON #3 AXLE LH	Scott Mclean	1.50
40575	CEL ISSUE	Stephen DeWolfe	3.50
40623	NEED A NEW FIRE EXTINGUISHER	Scott Mclean	0.25
40639	LOOSE STEERING SHAFT U-JOINTS	Stephen DeWolfe	2.00
40609	R & R TIRES AS NECESSARY	Darcy Hallock	8.50
40654	R & R DIFF LOCK/TEMP/HARNESS AS NECESSARY	Scott Mclean	2.00
40622	NEED NEW #1 DIFF INPUT AND OUTPUT SEAL	Scott Mclean	7.00
10558	LH FUEL TANK IS LEAKING	Scott Mclean	12.00
39663	CVIP Annual	Scott Mclean	14.00
Perform ann	ual CVIP. Change hydraulic filter if applicable.		
	22420		Turnelin
Work Order Equipment		Status: Serial Number:	Transferred 1NKDLB0X66J989120
-darbingir:	I NOCK INIDITAL AND UAR 1000 [3211]	Jenai Humber:	11410100000303120

Work Location: Created by:

Blackfalds Shop Oom Jarussirirat

Kms: N/A

N/A Hr:

Trucks Heavy

Business Unit: Start Date:

7-28-2021

Stop Date:

7-30-2021

Descriptio	1	Quantity	Labor Type	Rate	Total
DARCY PLA	Т	7.00 RT	Shop Mech Blfds	\$49.00	\$343.00
OOM JARU	SIRIRAT	1.50 RT	Shop Foreman	\$48.00	\$72.00

STEPHEN DEWOLFE	0.50 RT Shop Mech Bifds	\$49.00	\$24.50
		Total Labor	\$439.50
FUEL LEVEL SENDER[Custom]	1.00 Each	\$264.85	\$264.85
CU[Custom]	1.00 Each	\$750.00	\$750.00
SHOCK [90045813]	1.00 Each	\$70.12	\$70.12
		Total Parts	\$1,084.97
· · · · · · · · · · · · · · · · · · ·		Total Equip	\$0.00
		Total Cost	\$1,524.47

Item ID	Description	Completed By	Reported Hours
40785	FUEL LEVEL SENDING UNIT IS NOT WORKING	Darcy Platt	2.00
40966	NON OF THE GAUGES ON THE DASH ARE WORKING; NO SPEEDOMETER, NO	Darcy Platt	7.00

23430

Status:

Transferred

Equipment:

TRUCK TRIDRIVE VAC KW T880 [9211]

Serial Number: **Business Unit:**

1NKDLB0X66J989120

Work Location:

Created by:

Nick Depratto

Kms: Hr:

N/A N/A **Start Date:** Stop Date:

Trucks Heavy

ork Order Cost Summary

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
DIT FT MC INV 419803[Custom]	1.00 Each	\$705.08	\$705.08
		Total Parts	\$705.08
		Total Equip	\$0.00
		Total Cost	\$705.08

Item ID	Description	Completed By	Reported Hours
42630	9211 - 8/25/2021 - DIT FT MC - ALTERNATOR	Nick Depratto	0.00
			

Work Order:

25854

Status:

Transferred

Equipment:

TRUCK TRIDRIVE VAC KW T880 [9211]

Serial Number:

1NKDLB0X66J989120

Work Location:

Blackfalds Shop

Business Unit: Start Date:

Trucks Heavy 11-19-2021

Created by: Kms:

Oom Jarussirirat

Hr:

N/A N/A Stop Date:

11-20-2021

Description	Quantity Labor Type	Rate	Total
OOM JARUSSIRIRAT	0.75 RT Shop Foreman	\$48.00	\$36.00
STEPHEN DEWOLFE	2.75 RT Shop Mech Blfds	\$49.00	\$134.75
		Total Labor	\$170.75

			Total Cost	\$923.29
			Total Equip	\$0.00
			Total Parts	\$752.54
BOLT BATT	ERY HOLD DOWN [HWC04879]	4.00 Each	\$5.54	\$22.17
BATTERY G	ROUP 31 12V 730CCA CORE [7T31CORE]	4.00 Each	\$25.39	\$101.57
BATTERY G	ROUP 31 12V 730CCA [7T31]	4.00 Each	\$142.81	\$571.25
BATT ISOL	ATION SW 12V/175A [2484-A-DP]	1.00 Each	\$57.55	\$57.55

Item ID	Description	Completed By	keported Hours	
47569	NEED A NEW BATTERY MASTER SHUT OFF SWITCH	Stephen DeWolfe	0.50	
47571	NEED TO TOP UP BLOWER OIL; EP220	Stephen DeWolfe	0.50	
47572	NEED TO LOAD TEST BATTERIES	Stephen DeWolfe	2.50	

26433

Status:

Transferred

Equipment:

TRUCK TRIDRIVE VAC KW T880 [9211]

Serial Number:

1NKDLB0X66J989120

Work Location:

Blackfalds Shop

Business Unit:

Trucks Heavy

Created by:

Nick Depratto

Start Date: Stop Date: 12-10-2021 12-14-2021

Kms: Hr:

N/A N/A

work Order Cost Summary			
Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
ADAPTER-S [2R6806]	1.00 Each	\$6.90	\$6.90
DIAMOND INV 420261 [Custom]	1.00 Each	\$2,420.00	\$2,420.00
TUBE AS [1688974]	1.00 Each	\$75.99	\$75.99
		Total Parts	\$2,502.89
		Total Equip	\$0.00
		Total Cost	\$2,502.89

Item ID	Description	Completed By	Reported Hours
48759	FUEL LEAK AT THE FRONT OF THE ENGINE	Nick Depratto	0.00
Work Order:	28278	Status:	Transferred
Equipment:	TRUCK TRIDRIVE VAC KW T880 [9211]	Serial Number:	1NKDLB0X66J989120
Work Locati	on: Blackfalds Shop	Business Unit:	Trucks Heavy
Created by:	Nick Depratto	Start Date:	3-3-2022
Kms:	N/A	Stop Date:	3-7-2022
Hr:	N/A		

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
DIT FT MC INV# 420624[Custom]	1.00 Each	\$2,514.69	\$2,514.69
		Total Parts	\$2,514.69
1		Total Equip	\$0.00
		Total Cost	\$2,514.69

Item ID	Description	Completed By	Reported Hours
49866	250HR SERVICE - REPLACE ALL FILTERS - DIT FT MC INV# 420624	Nick Depratto	0.00

28544

Status:

Transferred

Trucks Heavy

Equipment:

TRUCK TRIDRIVE VAC KW T880 [9211]

Serial Number: Business Unit: 1NKDLB0X66J989120

Work Location: Created by:

Maintain Administrator

Start Date: Stop Date:

Kms: N/A Hr: N/A

Work Order Cost Summary

Work Order Cost Summary			
Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
DIAMOND INV 420201 [Custom]	1.00 Each	\$704.40	\$704.40
4		Total Parts	\$704.40
1		Total Equip	\$0.00
		Total Cost	\$704.40

Item ID	Description	Completed By	Reported Hours
53113	9211 - DIAMOND 11-30-2021	Maintain Administrator	0.00
	· <u>-</u> .		

Work Order:

30076

Status:

Transferred

Equipment:

TRUCK TRIDRIVE VAC KW T880 [9211]

Serial Number: Business Unit: 1NKDLB0X66J989120

Work Location:

Created by: Maintain Administrator

Start Date:

Trucks Heavy

Kms: N/A Hr: N/A Stop Date:

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
DIAMOND INV 420360[Custom]	1.00 Each	\$989.38	\$989.38
<u> </u>		Total Parts	\$989.38
		Total Equip	\$0.00
		Total Cost	\$989.38

Item ID	Description	Completed By	Reported Hours	
55070	9211- DIAMOND 1-17-2022	Maintain Administrator	0.00	
Work Orde	33299	Status:	Transferred	

Work Order: Equipment:

N/A N/A

TRUCK TRIDRIVE VAC KW T880 [9211]

Work Location:

Blackfalds Shop

Created by: Kms:

Nick Depratto

Hr:

Start Date: Stop Date:

Serial Number:

Business Unit:

1NKDLB0X66J989120

Trucks Heavy

8-8-2022 8-9-2022

Description	Quantity Labor Type	Rate	Total
KEVEN GILLOTT	14.50 RT Shop Mech Rky	\$49.05	\$711.23
STEPHEN DEWOLFE	7.50 RT Shop Mech Blfds	\$52.07	\$390.53
TYLER SCHWARZ	9.00 RT Shop Mech Rky	\$49.05	\$441.45
	<u> </u>	Total Labor	\$1,543.20
AIR DRYER FILTER CARTRIDGE ADIS [5008414PG]	1.00 Each	\$112.98	\$112.98
ANCHOR[Custom]	2.00 Each	\$127.94	\$255.88
AXLE SHAFT STEEL GASKET {3303107} [3566160C1]	1.00 Each	\$12.74	\$12.74
AXLE SHAFT STEEL GASKET {3303107} [3566160C1]	1.00 Each	\$12.74	\$12.74
BATT ISOLATION SW 12V/175A [2484-A-DP]	1.00 Each	\$66.44	\$66.44
BATT ISOLATION SW 12V/175A [2484-A-DP]	1.00 Each	\$66.44	\$66.44
BRAKE STROKE INDICATOR [S100]	3.00 Each	\$0.80	\$2.39
FILTER, HYDRAULIC [BT8850-MPG]	1.00 Each	\$45.86	\$45.86
FUEL SUPPORT CROSSMEMBER[Custom]	1.00 Each	\$301.52	\$301.52
MOUNTING BUSHING[Custom]	2.00 Each	\$18.78	\$37.56
PARTS FREIGHT [7540]	1.00 Each	\$125.00	\$125.00
RAD SUPPORT TIE ROD [k202-2421-16]	1.00 Each	\$321.94	\$321.94
SPACER[Custom]	2.00 Each	\$22.93	\$45.86
WHEEL HUB CAP GASKET [3303009]	2.00 Each	\$2.00	\$4.00
WHEEL HUB CAP VENT PLUG [3595990]	2.00 Each	\$4.90	\$9.80
WHEEL SEAL STEER AXLE [3828064]	2.00 Each	\$50.62	\$101.24
		Total Parts	\$1,522.38
		Total Equip	\$0.00
		Total Cost	\$3,065.58

Item ID	Description	Completed By	Reported Hours	
60099	REPLACE HYDRAULIC FILTER	Tyler Schwarz	0.50	
				_
61275	BATTERY SHUT OFF CORRODED	Keven Gillott	0.50	`-

61272	BOTH FRONT V	WHEEL SEALS LEAKING	Keven Gillott	3.50
40879	ADJUST CLUTO	CH AS REQUIRED - 1/2" BETWEEN CLUTCH BRAKE AND RELEASE	Tyler Schwarz	1.00
61273	REPLACE FIRE	EXTINGUISHER	Keven Gillott	0.25
61274	BATTERY'S CO	RRODED	Keven Gillott	2.50
56169	ADJUST CLUTO	TH AS REQUIRED - 1/2" BETWEEN CLUTCH BRAKE AND RELEASE	Keven Gillott	0.00
61277	HYDRAULIC HO	DSE RUBBING ON DRIVESHAFT	Keven Gillott	0.50
43569	REPLACE AIR D	RYER CARTRIDGE FILTER	Keven Gillott	0.50
61279	#3 LH AXLE GA	ASKET LEAKING	Tyler Schwarz	6.00
61278	REFLECTIVE TA	APE ON REAR OF TANK	Keven Gillott	0.50
61276	RH RADIATOR	SUPPORT BRAKCE WORN OUT	Keven Gillott	0.50
61271	REPAIR HOSE	CLAMP ON HYDRAULIC PUMP	Keven Gillott	0.50
1.694	ANTILOCK LIG	HT COMES ON AND OFF - PT 92879	Tyler Schwarz	0.50
53207	CHECK TAIL LI	GHTS - PT 94484	Keven Gillott	0.50
60054	CVIP Annual		Stephen DeWolfe	10.00
61270	CROSS BRACE	FOR FUEL TANKS BENT AND BOLTS SHEERED BOTH SIDES	Stephen DeWolfe	3.25
		 		
Work Order:		34229	Status:	Transferred
Equipment:		TRUCK TRIDRIVE VAC KW T880 [9211]	Serial Number:	1NKDLB0X66J989120
Work Locatio	n:	Blackfalds Shop	Business Unit:	Trucks Heavy
		Oom Jarussirirat	Start Date:	8-19-2022
Created by: Kms:		N/A	Stop Date:	8-22-2022

			_
₩ork	Order	Cost	Summary

escription	Quantity Labor Type	Rate	Total
KEVEN GILLOTT	0.50 RT Shop Mech Rky	\$49.05	\$24.53
		Total Labor	\$24.53
		Total Parts	\$0.00

Total Equip

Total Cost

\$24.53

Description	Completed By	Reported Hours	_
A DATE OF MOTIVE OF METALS			
LAD RADIO IS NOT WORKING	Keven Gillott	0.50	
	Description LAD RADIO IS NOT WORKING		

Work Order:

34342

Equipment:

TRUCK TRIDRIVE VAC KW T880 [9211]

Work Location:

Rocky Mountain House Shop

Created by:

N/A

Kms: Hr:

N/A

Nick Depratto

Status:

Serial Number:

Business Unit:

Start Date: Stop Date:

8-23-2022

Transferred

Trucks Heavy

1NKDLB0X663989120

9-2-2022

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
2" HEATED COUPLERS [Custom]	2.00 Each	\$100.30	\$200.60
		Total Parts	\$200.60
		Total Equip	\$0.00
		Total Cost	\$200.60

Item ID	Description	Completed By	Reported Hours
63067	REPAIR CAUSE OF AC NOT WORKING	Nick Depratto	0.00
Work Order:	: 34471	Status:	Transferred
Equipment:	TRUCK TRIDRIVE VAC KW T880 [9211]	Serial Number:	1NKDLB0X66J989120
Work Locati	on: Current Equipment Location	Business Unit:	Trucks Heavy
Created by:	Carla Merklin	Start Date:	8-25-2022
Kms:	N/A	Stop Date:	8-26-2022
Hr:	N/A		

Description	Quantity Labor Type	Rate	Total
TEVIN FERRIS	1.00 RT Shop Mech Field	\$59.34	\$59.34
		Total Labor	\$59.34
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$59.34

Item ID	Description	Completed By	Reported Hours
63318	9211 - no start	Carla Merklin	1.00

38735

N/A

Equipment:

TRUCK TRIDRIVE VAC KW T880 [9211]

Serial Number: **Business Unit:**

Transferred

Trucks Heavy

Jork Location:

Created by:

Danielle McArthur

Start Date:

1NKDLB0X66J989120

Hr:

Kms: N/A

Status:

Stop Date:

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
DIAMOND INV 421143[Custom]	1.00 Each	\$2,194.89	\$2,194.89
		Total Parts	\$2,194.89
		Total Equip	\$0.00
		Total Cost	\$2,194.89

Item ID	Description	Completed By	Reported Hours
71468	9211 - DIAMOND INV 421143 9-8-2022	Danielle McArthur	0.00

Work Order:

38737

Status:

Transferred

Equipment:

TRUCK TRIDRIVE VAC KW T880 [9211]

Serial Number: **Business Unit:**

1NKDLB0X66J989120

ork Location:

Danielle McArthur

Start Date:

Trucks Heavy

Created by:

Kms:

N/A

Stop Date:

N/A Hr:

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
DIAMOND INV 421178[Custom]	1.00 Each	\$364.23	\$364.23
		Total Parts	\$364.23
	· · · · · · · · · · · · · · · · · · ·	Total Equip	\$0.00
		Total Cost	\$364.23

Item ID	Description	Completed By	Reported Hours
71470	9211 - DIAMOND INV 421178	Danielle McArthur	0.00

Work Order:

35007

Equipment:

TRUCK TRIDRIVE VAC KW T880 [9211]

Jork Location:

Blackfalds Shop

Created by:

Oom Jarussirirat

Kms: Hr:

N/A

N/A

Status:

Transferred

Business Unit: Start Date:

Serial Number:

1NKDLB0X66J989120

Trucks Heavy 9-20-2022

Stop Date:

9-22-2022

Description	Quantity Labor Type	Rate	Total
CLAYTON BERG	7.00 RT Shop Mech Blfds	\$52.07	\$364.49
DOSHUA BOTA	11.75 RT Shop Mech Blfds	\$52.07	\$611.82
KEVEN GILLOTT	22.50 RT Shop Mech Rky	\$49.05	\$1,103.63
STEPHEN DEWOLFE	24.75 RT Shop Mech Blfds 10.50 RT Shop Mech Rky	\$52.07 #40.05	\$1,288.73
TYLER SCHWARZ	10.50 RT Shop Mech Rky	\$49.05 Total Labor	\$515.03 \$3,883.70
3.5 FUEL CAP {K22-1024, K22-1029} [FTA-C-442]	2.00 Each	\$37.25	\$74.50
30" VACUUM GUAGE [9267404-FF]	2.00 Each	\$87.95	\$175.90
30PSI VAC. GAUGE 1/4BM LF [8345783]	1.00 Each	\$30.81	\$30.81
3RD PARTY VENDOR REPAIRS & LABOUR [7230]	1.00 Each	\$27.51	\$27.51
3RD PARTY VENDOR REPAIRS & LABOUR [7230]	1.00 Each	\$928.28	\$928.28
AIR BAG[Custom]	1.00 Each	\$194.68	\$194.68
AIR DRYER FILTER CARTRIDGE ADIS [5008414PG]	1.00 Each	\$128.26	\$128.26
CLUTCH 15.5" 1860 FTLBS EASY PEDAL EATON {C30892525} [10892520AM]	1.00 Each	\$1,080.69	\$1,080.69
CLUTCH BRAKE {C127200} [SB200]	1.00 Each	\$43.62	\$43.62
CLUTCH CONTROL [K202-2002-1]	1.00 Each	\$167.63	\$167.63
CLUTCH CONTROL LEVER [E55-1116]	1.00 Each	\$182.55	\$182.55
CLUTCH INSTALL KIT EATON RTLO18918B TRANSMISSIONS [K2468]	1.00 Each	\$232.67	\$232.67
CLUTCH LINKAGE [SPF6S]	2.00 Each	\$10.42	\$20.84
FILTER AIR {P534816} [AF25247]	2.00 Each	\$56.31	\$112.61
FILTER CAB AIR W/O COVER KW T800 & C500 [CFR19501]	1.00 Each	\$8.23	\$8.23
FILTER FUEL SPIN-ON (1R0749, 1R1712, P551311) [FF5319]	1.00 Each	\$11.32	\$11.32
FILTER FUEL SPIN-ON {P551000} [FS1000]	1.00 Each	\$12.94	\$12.94
FILTER HYDRAULIC SPIN-ON {P164384} [HF6555]	1.00 Each	\$55.80	\$55.80
FILTER LUBE SPIN-ON (DBL7505, 1R1808, P551808) [LF3566]	1.00 Each	\$26.23	\$26.23
GASKET - PTO THICK [35P152]	1.00 Each	\$1.91	\$1.91
GASKET - PTO THICK [35P152]	1.00 Each	\$1.91	\$1.91
GASKET - PTO THIN [35P151]	1.00 Each	\$1.34	\$1.34
GASKET [3\$P59]	1.00 Each	\$11.99	\$11.99
GASKET-FUEL GUAGE [P72030]	2.00 Each	\$4.52	\$9.04
LEVER-CLUTCH SONTROL [K160-2380]	1.00 Each	\$0.01	\$0.01
OIL COOLER - TRANSMISSION [K3966]	1.00 Each	\$731.04	\$731.04
PTO STUD KIT [328170-200X]	1.00 Each	\$19.38	\$19.38
REAR MAIN SEAL - MXS[Custom]	1.00 Each	\$183.98	\$183.98
ROD ASSEMBLY- CLTUCH ADJUSTER [K202-2503-0498]	1.00 Each	\$245.89	\$245.89
SEAL - PRESS IN COMPRESSOR [2233505]	1.00 Each	\$23.38	\$23.38
SHAFT [M-1984]	1.00 Each	\$46.14	\$46.14

			720,00010
		Total Cost	\$13,069.0
		Total Parts Total Equip	\$9,185.33 \$0.00
YOKE - TRANSMISSION OUTPUT YOKE [6.5-4-4631]	1.00 Each	\$253.54	\$253.5
U-JOINT - 1810 [5281X]	1.00 Each	\$112.88	\$112.8
U-JOINT - 1810 [5281X]	2.00 Each	\$82.64	\$165.2
TRANSMISSION YOKE NUT - EATON RTLO-18918B [K4122]	1.00 Each	\$26.79	\$26.79
TRANSMISSION YOKE NUT - EATON RTLO-18918B [K4122]	1.00 Each	\$34.26	\$34.2
TRANSMISSION OUTPUT SEAL KIT - EATON RTLO-18918B [K2918]	1.00 Each	\$37.44	\$37.4
TRANSMISSION- ETN 18 SPD W/HALO [RTLO18918B]	1.00 Each	\$2,754.17	\$2,754.1
TRANSMISSION CORE - ETN 18 SPD W/HALO [RTLO18918BCORE]	1.00 Each	\$3,860.34	\$3,860.3
TRANSMISSION {HAS CORE} ETN 18 SPD W/HALO [RTLO18918B]	1.00 Each	(\$3,000.00)	(\$3,000.00
TEMPERATURE SENDER [Q21-1002]	1.00 Each	\$80.90	\$80.9
TUD [R005872]	2.00 Each	\$3.64	\$7.2
TUD [R005872]	2.00 Each	\$3.64	\$7.2
SPACER- ROUND 7.2X50X8 ACE [E80-1012-008]	2.00 Each	\$15.34	\$30.6
SHAFT-CROSS, CLUTCH [106C1498]	1.00 Each	\$23.46	\$23.4

Item ID	Description	Completed By	Reported Hours
64492	LHR AIR BAGS FLAT ISSUE	Joshua Bota	3.00
J4493	LEAKIGN FUEL LINE; BEHIND THE AIR COMP	Joshua Bota	0.25
64533	NEED A NEW TRANS OIL COOLER	Stephen DeWolfe	0.00
64444	NEED 3 NEW PRESSURE/VAC GAUGES ON DS	Tyler Schwarz	0.75
64494	NEED A NEW AIR COMP MOUNTING GASKET/O-RING; LEAKING	Joshua Bota	2.50
64445	FUEL TANKS LEAKS ISSUE	Tyler Schwarz	5.00
64447	NEED A NEW SPILL KITS	Tyler Schwarz	0.25
64428	250HR SERVICE - REPLACE ALL FILTERS	Joshua Bota	8.50
50703	REPLACE T/C & BLOWER OIL CHANGE	Joshua Bota	0.00
64443	HYD LEAKS ISSUE	Tyler Schwarz	1.25
64292	REPLACE AIR DRYER CARTRIDGE FILTER	Tyler Schwarz	0.25
64613	NEED A NEW REAR ENG CRANK SEAL	Stephen DeWolfe	1.00
64431	NEED A NEW TRANSMISSION; SYNCRO IS OUT OF IT	Keven Gillott	50.75
64430	ADJUST CLUTCH AS REQUIRED - 1/2" BETWEEN CLUTCH BRAKE AND RELEASE	Stephen DeWolfe	0.50

Brittinni Lockard

1.50

70103

9211 - T/S BLOCK HEATER CORD BLOWING BREAKER

41339

Serial Number:

Transferred

.quipment:

TRUCK TRIDRIVE VAC KW T880 [9211]

Business Unit:

1NKDLB0X66J989120

Work Location:

Created by:

Hr:

Danielle McArthur

Start Date:

Status:

Trucks Heavy

Kms:

N/A N/A

Stop Date:

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
DIAMOND INV 421457[Custom]	1.00 Each	\$1,328.39	\$1,328.39
		Total Parts	\$1,328.39
		Total Equip	\$0.00
		Total Cost	\$1,328.39

Item ID	Description	Completed By	Reported Hours
76274	9211 - DIAMOND INV 421457	Danielle McArthur	0.00

Work Order: _quipment:

39535

TRUCK TRIDRIVE VAC KW T880 [9211]

Rocky Mountain House Shop

Work Location: Created by:

Kms:

Nick Depratto

N/A Hr: N/A

Status:

Serial Number:

1NKDLB0X66J989120 Trucks Heavy

Transferred

Business Unit: Start Date:

2-9-2023

Stop Date: 2-10-2023

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours
72366	REPLACE T/C & BLOWER OIL CHANGE	Nick Depratto	0.00
67797	REPLACE T/C & BLOWER OIL CHANGE	Nick Depratto	0.00
71241	400HR SERVICE - REPLACE ALL FILTERS	Nick Depratto	0.00

Work Order:

41534

Equipment: Work Location: TRUCK TRIDRIVE VAC KW T880 [9211]

Status:

Transferred

Serial Number:

1NKDLB0X66J989120

Business Unit:

Trucks Heavy

Created by:

Danielle McArthur

Kms:

N/A

Hr:

N/A

Work Order Cost Summary

Description	Quantity Labor Type Rate	Total
	Total Labor	\$0.00
DIAMOND INV 421556[Custom]	1.00 Each \$430.29	\$430.29
	Total Parts	\$430.29
	Total Equip	\$0.00
	Total Cost	\$430.29

Item ID	Description	Completed By	Reported Hours
76647	9211 - 2/9/2023	Danielle McArthur	0.00

Work Order: Equipment:

41871

N/A

N/A

N/A

Status:

Start Date:

Stop Date:

Transferred

Trucks Heavy

TRUCK TRIDRIVE VAC KW T880 [9211]

Serial Number: **Business Unit:**

1NKDLB0X66J989120

Work Location:

Created by:

Danielle McArthur

Kms:

Hr:

Start Date:

Stop Date:

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
	· · · · · · · · · · · · · · · · · · ·	Total Labor	\$0.00
IAMOND INV 421636[Custom]	1.00 Each	\$3,927.68	\$3,927.68
		Total Parts	\$3,927.68
		Total Equip	\$0.00
		Total Cost	\$3,927.68

Item ID Desc	iption	Completed By	Reported Hours
77209 9211	2/23/2023 DIAMOND INV 421636	Danielle McArthur	0.00
Nork Order:	48611	Status:	Transferred
quipment:	TRUCK TRIDRIVE VAC KW T880 [9211]	Serial Number:	1NKDLB0X66J989120
Work Location:		Business Unit:	Trucks Heavy
Created by:	Danielle McArthur	Start Date:	
Kms:	N/A	Stop Date:	

Work Order Cost Summary

Hr:

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
DIAMOND INV 421856[Custom]	1.00 Each	\$1,709.35	\$1,709.35

Total Parts	\$1,709.35
Total Equip	\$0.00
Total Cost	¢1 700 35

Total Cost \$1,709.35

Item ID	Description	Completed By	Reported Hours
89474	9211 - DIAMOND INV 421856 5-2-2023	Danielle McArthur	0.00

Work Order:

42471

Equipment:

TRUCK TRIDRIVE VAC KW T880 [9211]

Work Location: Created by:

Blackfalds Shop Oom Jarussirirat

Kms:

N/A N/A Hr:

Status:

Transferred

Serial Number:

1NKDLB0X66J989120 Trucks Heavy

Business Unit: Start Date: Stop Date:

5-17-2023

5-30-2023

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
DIT FT MC INV 421972[Custom]	1.00 Each	\$1,763.40	\$1,763.40
		Total Parts	\$1,763.40
		Total Equip	\$0.00
		Total Cost	\$1,763.40

Item ID	Description	Completed By	Reported Hours
74368	DIT FT MC INV 421972 - 400HR SERVICE - REPLACE ALL FILTERS	Oom Jarussirirat	0.00
78121	ADJUST CLUTCH AS REQUIRED - 1/2" BETWEEN CLUTCH BRAKE AND RELEASE	Oom Jarussirirat	0.00

Work Order: **Equipment:**

44372

TRUCK TRIDRIVE VAC KW T880 [9211]

Work Location:

Created by: Oom Jarussirirat Kms: N/A Hr: N/A

Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Transferred 1NKDLB0X66J989120

Trucks Heavy

Description	Quantity Labor Type	Rate	Total
	· · · ·	Total Labor	\$0.00
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours
	·		
81609	LIGHTS ISSUE	Oom Jarussirirat	0.00

44403

Equipment:

TRUCK TRIDRIVE VAC KW T880 [9211]

Work Location:

Blackfalds Shop

Created by:

Oom Jarussirirat

Kms: Hr:

N/A N/A

Status:

Transferred

Serial Number:

1NKDLB0X66J989120

Business Unit:

Trucks Heavy

Start Date:

7-19-2023

Stop Date:

8-15-2023

Description	Quantity Labor Type	Rate	Total
CLAYTON BERG	3.00 RT Shop Mech Blfds	\$52.07	\$156.21
DAMIAN MYERS	32.75 RT Shop Mech Blfds	\$52.07	\$1,705.29
DARCY PLATT	48.00 RT Shop Mech Bifds	\$52.07	\$2,499.36
WILLIAM ROSBOTTOM	18.00 RT Shop Mech Blfds	\$52.07	\$937.26
#00 PEADED CTEM V #00 MALE ORD AFDEC (NACO20000)	1 00 Fook	Total Labor	\$5,298.12
#08 BEADED STEM X #08 MALE ORB 45DEG [N46030808]	1.00 Each	\$5.69	\$5.69
#20 MALE JIC - #20 FEMALE JIC, SWIVEL[Custom]	1.00 Each	\$16.17	\$16.17
#8 MALE JIC - #8 MALE ORB [N64000808]	1.00 Each	\$1.64	\$1.64
#8 MALE JIC X #12 MALE NPT 45DEG[Custom]	1.00 Each	\$3.59	\$3.59
#8 MALE JIC X #12 MALE NPT STRAIGHT[Custom]	1.00 Each	\$2.71	\$2.71
0 160 STEN LQD GAUGE 2.5 FACE [PG160SG025]	1.00 Each	\$28.97	\$28.97
1/2" WELD ON TANK FLANGE[Custom]	1.00 Each	\$13.76	\$13.76
1-1/4" BALL VALVE[Custom]	1.00 Each	\$28.21	\$28.21
1-1/4" WELD ON TANK FLANGE[Custom]	4.00 Each	\$19.54	\$78.16
2 POSITION ROCKER SWITCH W/ RED LIGHT [34305]	4.00 Each	\$16.45	\$65.80
2" BLACK PIPE CAP [N240200BI]	1.00 Each	\$4.19	\$4.19
3/4" BLACK PIPE PLUG [N265075BI]	3.00 Each	\$0.97	\$2.91
3/4" WELD ON TANK FLANGE[Custom]	3.00 Each	\$13.91	\$41.73
AIR BAG [90557212]	1.00 Each	\$214.54	\$214.54
AIR DRYER FILTER CARTRIDGE ADIS [5008414PG]	1.00 Each	\$101.37	\$101.37
BACKUP RING [2338015]	2.00 Each	\$13.82	\$27.64
BIMETAL THERMOMETER - 3" DIAL 0 - 250 F[Custom]	1.00 Each	\$31.40	\$31.40
BRAKE DRUM - REAR/TRAILER 16.5X7 [165X7BD]	2.00 Each	\$107.83	\$215.65
CAGE BOLT [FS-5620LS]	2.00 Each	\$5.57	\$11.14
CLAMP [2415885]	2.00 Each	\$82.71	\$165.42
CUSTOMER TANK CUT MCLEVINS INV# 208212[Custom]	1.00 Each	\$777.00	\$777.00
DOOR LAMP [1609012]	2.00 Each	\$99.22	\$198.44
GASKET - FUEL HAND PRIMER [1P0436]	1.00 Each	\$2.93	\$2.93
GAUGE - 1-1/4" NPT SIGHT GLASS[Custom]	2.00 Each	\$36.63	\$73.26
HYDRAULIC BREATHER CAP ASSEMBLY[Custom]	1.00 Each	\$191.55	\$191.55
HYDRAULIC FILTER ASSEMBLY [LIT125010P]	1.00 Each	\$730.62	\$730.62

		Total Cost	\$11,613.99
		Total Equip	\$0.00
		Total Parts	\$6,315.87
WEST COAST MIRROR- HEATED/LIGHT (OE7169SS) [MIR4024]	1.00 Each	\$36.17	\$36.17
WEBASTO THERMO TOP C - CIRCULATION PUMP U 4847 - 12 V [9002514]	1.00 Each	\$351.90	\$351.90
WEBASTO THERMO TOP C - BURNER (DIESEL) 12 V [1322639]	1.00 Each	\$453.66	\$453.66
VALVE- LEVELING VALVE [90555375M1D]	1.00 Each	\$167.60	\$167.60
SWITCH - DOOR JAMB [BA28600]	2.00 Each	\$20.01	\$40.02
SHIELD AS [3798579]	2.00 Each	\$154.29	\$308.58
SHIELD AS [3798579]	1.00 Each	\$153.30	\$153.30
SEAL AS [3805855]	2.00 Each	\$178.73	\$357.46
SEAL [2338014]	2.00 Each	\$32.84	\$65.68
SEAL - O-RING - SPACER TRANSFER PUMP [8T9527]	1.00 Each	\$46.02	\$46.02
RELAY [CB12650]	2.00 Each	\$9.30	\$18.60
PUMP ASSEMBLY - FUEL HAND PRIMER [1375541]	1.00 Each	\$254.35	\$254.35
POWER STEERING PUMP SEAL - KENWORTH [1075769]	1.00 Each	\$11.75	\$11.75
OVER THE MIRROR [28763]	1.00 Each	\$38.02	\$38.02
MOTOR-BLOWER DBL SHAFT [SR2000009]	1.00 Each	\$182.53	\$182.53
MALE JIC, 45 DEG X MALE NPT[Custom]	1.00 Each	\$10.38	\$10.38
IT-CONNECTOR ELECTRICAL - DOOR JAMB SWITCH [K333511K1T]	2.00 Each	\$38.69	\$77.38
KIT-BOLT AD-IS DRYER [5009233BXW]	1.00 Each	\$16.64	\$16.64
JUNCTION TERMINAL BOX [821000]	1.00 Each	\$9.96	\$9.96
JOINT - EXPANSION [2276721]	1.00 Each	\$681.37	\$681.37

Item ID	Description	Completed By	Reported Hours
32230	REPLACE AIR DRYER CARTRIDGE FILTER	Darcy Platt	0.50
82231	REPLACE T/C & BLOWER OIL CHANGE	Darcy Platt	1.50
32522	LIGHTS ISSUE	Darcy Platt	4.00
32519	MISSING BRAKE POT CAGING BOLTS	Darcy Platt	0.25
82523	ENG WEBASTO IS NOT WORKING	William Rossbottom	4.00
32518	NEED A NEW FIRE EXTINGUISHER	Darcy Platt	0.25
2525	NEED A NEW CURB SIDE MIRROR	Darcy Platt	0.25
2524	NEED A NEW DS WEST COAST MIRROR	William Rossbottom	1.50
32516	HEATER MOTOR NOISY	William Rossbottom	2.75
31732	HYD TANK LEAKS ISSUÉ	Darcy Platt	34.00

82528	REPLACE BRAKE DRUMS AS NECESSARY	Darcy Platt	0.00
80697	REPLACE HYDRAULIC FILTER	Darcy Platt	0.00
82529	EXHAUST LEAKS ISSUE	Darcy Platt	4.25
82517	PWR STEERING LEAKS ISSUE	Oom Jarussirirat	3.50
82527	COOLANT LEAKS ISSUE	Oom Jarussirirat	1.50
82520	NEED A NEW AIR BAG ON #3 AXLE RH	Oom Jarussirirat	3.50
67887	INSTALL QR WHEEL RETORQ STICKER ON THE INSIDE DRIVER SIDE WINDOW	Darcy Platt	0.25
81669	FUEL LEAKS ISSUE	Clayton Berg	0.50
81657	LIGHTS ISSUE	Darcy Platt	13.00
82229	CVIP INSPECTION	Darcy Platt	12.50
82521	RH AIR BAG LEAKING DOWN ISSUE; CHECK RIDE HEIGHT	William Rossbottom	5.75
82526	AIR LEAKS ISSUE; LOSING 70 PSI ON 30 MINS	Oom Jarussirirat	8.00
Work Order:	56824	Status:	Transferred
Equipment:	TRUCK TRIDRIVE VAC KW T880 [9211]	Serial Number:	1NKDLB0X66J989120
Work Locatio		Business Unit:	Trucks Heavy
Created by:	Oom Jarussirirat	Start Date:	8-13-2024
Kms:	N/A	Stop Date:	8-16-2024
Hr:	N/A		

Descriptidn	Quantity Labor Type	Rate	Total
CLAYTON BERG	17.50 RT Shop Mech Blfds	\$52.07	\$911.23
DAMIAN MYERS	3.00 RT Shop Mech Blfds	\$52.07	\$156.21
JOSHUA BOTA	3.00 RT Shop Mech Blfds	\$52.07	\$156.21
		Total Labor	\$1,223.65
BRAKE PEDAL ASSEMBLY [802482]	1.00 Each	\$210.68	\$210.68
TREADLE MOUNTING PLATE ASSEMBLY [802481]	1.00 Each	\$174.84	\$174.84
TREADLE VALVE USE H286171 [286171BXW]	1.00 Each	\$91.85	\$91.85
		Total Parts	\$477.37
		Total Equip	\$0.00
		Total Cost	\$1,701.02

Item ID	Description	Completed By	Reported Hours

94788	INSTALL 2024 ASGA STICKERS	Oom Jarussirirat	0.00	
94723	INSTALL 2024 ASGA STICKERS	Oom Jarussirirat	0.00	
3447	QR CODE UPDATE	Clayton Berg	0.25	
37258	CUMMINS OVERHEAD VALVE SET ADJUSTMENT	Clayton Berg	3.50	
94907	INSTALL 2024 ASGA STICKERS	Oom Jarussirirat	0.00	
93326	QR CODE UPDATE	Oom Jarussirirat	0.00	
84655	REPLACE AIR DRYER CARTRIDGE FILTER	Clayton Berg	0.50	
103994	TRUCK WON'T START.	Clayton Berg	4.50	
103614	CVIP INSPECTION	Clayton Berg	4.25	
103588	REPLACE HYDRAULIC FILTER	Clayton Berg	1.00	
104009	BRAKE THREADLE VALVE SEIZED	Clayton Berg	9.50	
Work Order:		Status:	Transferred 1NKDLB0X6639891	20
Equipment: Work Locatio	TRUCK TRIDRIVE VAC KW T880 [9211 Dn: Blackfalds Yard] Serial Number: Business Unit:	Trucks Heavy	20
Created by:	Bernie Seefried	Start Date:	9-25-2024	
Kms:	N/A	Stop Date:	9-27-2024	
Hr:	N/A	·		
Work Order (Description	Cost Summary	Quantity Labor Type	Rate	Tot
BERNIE SEEFR	LIED	2.00 RT Shop Mech Blfds	\$52.07	\$104.
		·	Total Labor	\$104.
			Total Parts	\$0.0

Item ID	Description	Completed By	Reported Hours
07452	INSTALL NEW GPS	Bernie Seefried	2.00
	•		

Total Equip

Total Cost

\$0.00 \$104.14

64792

Equipment:

TRUCK TRIDRIVE VAC KW T880 [9211]

Work Location:

Blackfalds Shop

Created by:

Oom Jarussirirat

Kms: Hr: N/A N/A Status:

Serial Number:

Closed 1NKDLB0X66J989120

l laste.

Trucks Heavy

Business Unit: Start Date:

3-12-2025

Stop Date:

3-12-2025 3-14-2025

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
JOSHUA BOTA	4.50 RT Shop Mech Blfds	\$52.07	\$234.32
		Total Labor	\$234.32
BATTERY BUTTON - RUBBER [4023KW]	1.00 Each	\$14.69	\$14.69
BATTERY BUTTON - RUBBER [4023KW]	3.00 Each	\$9.55	\$28.65
BATTERY CABLE - SHORT BLACK [BC1052]	1.00 Each	\$57.33	\$57.33
BATTERY CABLE - SHORT BLACK [BC1052]	1.00 Each	\$45.46	\$45.46
BATTERY CABLE - SHORT RED [D63111662]	2.00 Each	\$63.69	\$127.38
BOLT BATTERY HOLD DOWN [HWC04879]	2.00 Each	\$11.72	\$23.44
WASHER [HWC04033]	4.00 Each	\$0.74	\$2.97
		Total Parts	\$299.92
		Total Equip	\$0.00
		Total Cost	\$534.23

Item ID	Description	Completed By	Reported Hours	
118640	TRUCK WON'T START	Joshua Bota	4.50	

Work Order: Equipment: 67715

N/A

TRUCK TRIDRIVE VAC KW T880 [9211]

Blackfalds Shop

Work Location: Created by:

Nick Depratto

Kms:

Hr: N/A

Status:

Serial Number:

1NKDLB0X66J989120

Business Unit: Start Date:

Trucks Heavy 5-27-2025

Closed

Stop Date: 5-27-2025

Description	Quantity Labor Type	Rate	Total
BLAKE HOPKINS	1.50 RT Shop Mech Blfds	\$52.07	\$78.11
		Total Labor	\$78.11
3" CAMLOOK GASKET [300GBU]	4.00 Each	\$0.73	\$2.92
FILTER AIR DRYER - BENDIX ADIS {BEN: 5008415PG} [5008414PG]	1.00 Each	\$183.34	\$183.34
FILTER LUBE CARTRIDGE {DON: P550637} [LF637]	1.00 Each	\$15.69	\$15.69
		Total Parts	\$201.95
		Total Equip	\$0.00
		Total Cost	\$280.06

Item ID	Description	Completed By	Reported Hours

106250	REPLACE AIR DRYER CARTRIDGE FILTER	Blake Hopkins	0.75

0.75

Blake Hopkins

REPLACE POWER STEERING FILTER (WAIT UNTIL NEXT SERVICE OR CVIP)

112451